
 

 

               × 10: Part 2     
1.  Complete:    

 1 2 3 4 5 6 7 8 9 10 11 12 13 

×10              

 

 

    From this we see that:  Ten 10s = ………   or   10 × 10 = ……… 

 

2.  Let’s fill in the following answers.          

a)   12 × 10 =  ……. b)   15 × 10 =  ……. c)   18 × 10 = ……. 

10 × 12 = ……. 10 × 15 = ……. 10 × 18 = ……. 

 

3.   True  or  False ?   

       16 × 10 means the same as 16 + 0? 

 

4.  Let’s fill in the following answers.          

a)   23 × 10 =  ……… b)   35 × 10 =  ……… c)   64 × 10 = ……… 

10 × 23 = ……… 10 × 35 = ……… 10 × 64 = ……… 

 

 

 

 

 

 

 

 

  




